4.6 Trig Identities Worksheet #1
MCR3U
Jensen

1) Prove each identity

a) sinf = cos@ tanb
b) cscl = secl cotd
c) cosf = sinf cot6
d) secO = csch tanf

2) Prove each identity
a) 1+ cscO = cscO(1 + sinb)
b) cotf sinf secd =1
c) cosO(secd —1) =1— cosb
d) 1+ sinf = sinf(1 + csch)

3) Prove that 1 — sin26 = sinf cosf cotf

4) Prove that csc?6 = cot?6 + 1

cosf _ 1-sinf

5) Prove that T

+sinf cosf

cosO cos@ 2

6) Prove that 1-sinf 1+sin8  cos@

7) Prove that csc?0 cos?0 = csc?6 — 1

8) Prove that tan?6 — sin?0 = sin?0 tan?0



